Yy gy
o
< AL B A L R R S as ,Z,v;»v R .

<\

AN
/ \/ \‘ \
/ 7
D\ D\
9 ) A
; .a ’

SN

SN
SN

i

/95%#

Y0P ik
L3 ?
JLER3 4 2B Xk

~

= S N \\}\l.
et SN s SEN

P
‘s\}

. S ! N . g
I N g

N
[ >
SN

i AV

AR !
SAS N g
B o AN NP Ay ;Vw :.\m

._ R e MR o X
) N\ Z/J“ ,#r/“ BN I B 2



Jb B B PR

BBty R AR

CHIPNEICE 'S A
B X

7] KB B
i- %}@W&Bil@ﬂzu ................................. (E)
2+ AR [ 54 42 WIORT) 5 LRI D5 ) AR ()
X BB
2.‘[993&%%_;& .......... RO U ( _.:—-J)
AT LR
9

b




2

BRERIRE oo .
ok

=)

(HC)
(P9 1)

(=)



P RIBAY
15 (R e )
' TR B i 2 B o I — IR
2y ? '
A A R WO A 2 5 R ER A TR 7
H5 b AR A B R R AR ?
55 BT mA TR R 0 R B
B A o |
F— B
Je R R T AR
1288 =105]
1R =102
134 =102 R
18R =102
LA =105



[RAY B (A ]
St
SR HBLES [ 29K ]
1 ZAEELOOZS BR
O I2NER = 100285
o S
REMBOLE 27
LA L0
12 =108
IR =10R4&
AR =102
1)&/\] :l()i\*gi
kW ER
RIFEDRRT 2 1 RSB0 - B8 L
U AT BEN o
1R =104 .
VoA — 10 My -



3T

LA = 10T

L2 T == LOZS R

123 = 10258

Al A

1285 = 1025%%

1AM~ 108 %

I Z=1000
R - 14 |

22 L5 BT 628 REZA 5 = 2350605 2 7
B Rk

FRTT04ZNE + 537N T67R WRAZS 7
gIRE=

ORHA A HIRHIATHA & =12
BIREDY - PRIk

AR —TAFS AT =3 R EN A2

e |
BB - e

Sl A




RAEIPEAL Sh300 IR B /AL i
L PN K i

S3EE + 125 = 3202 N

TER

L B P S e A 7 BRI HE 0 o

2. BYBRE L AR 1SR > BT
FIRER] o

SN 2 2R K EAMERE
AR ARIROI R T AR

A EAER TSN ¢ IS M MER Al
VITE R e HERE A » BT BT
KBPRAVIA o ‘

MR RNARD 22
R 0

5e TR — R

6. =3 STk —2 T

T AR R BRI ERY o - H A )
ARMER  FR-2F -k



RACKER » BR—
| O —

1. BRB — {1 5 B B Y R ¢
2. 5020 — 181 45 L B T B
3.7 A% ¢ B3 3 BA S RASRR

RREA
&, L0065 2} F~ ? Ak P AR P AT
oL R '
s IHRG A AR KAk 20
HBR=?

6. ALK A — 115 AT/ AR 8IL)y
A=

7.6 E IR 25 ) B X 64== ?

8, VA +625= 7

VIR T ARSI ARE ?

10, WRE+ZHDEP  AEAR
Bt ?

U, ZxHARGERED?



8

12, ERREERNMER  AELAA

SHKVEERED ?
A B A B B 5 LT

_—:_',,g Sl

ay il
MU R SR miE 4
e
ERIBE AR B — e
EMBEAR T ETERERE &
SR =131 A
I o 10 A R 78 2% W g 30 A R
» B T B R R LB A B B
BERY L1l 7% %
ok
1A E A LR B S
ARAMEREIE R B O
B A B T4 IR B A B ) LA
Y 2 o
BB




9

1R=~0322R APAR=3J4BR
15k = 6, 144555\ 1758k = 0. 162763%
)= 1,0854688 73 F}F 173 Ff=0.9657491 F}-
1/ =0,596816 « Jr 10 =1,687555829
15 == 37,3015 4% 473 4= 0,0268089327}f
Uke:
1. SRR R S B R B A e
R R B B MR LR o
3 SRR AT RIVE B ¥ o
g B
1043 5 RERBREEEK o
bS5 R=4R
0,32 2R X45=14,4 PR=1 2
HARRART
2. 4826A5 47 & F B BN BE T ) o
%R 55r=2. 5L
6 1447\ GA X 3,5= 5,387 gk = 152>
#AS6 2N JE



ST -

10
S AB2ZRFRAIR-FRBRABE LY

VNTEAL = UORTFH
0,9657461F} x 240=231,T79F} — 2
]53::}13:‘-7%7@9;& )
4 FCARNMEABARBEA T
VREE= LR
1.67555829F X 40 = 67 0223316 Jf-
=67J7-3¢%5%5 THE 35 o
&
4735 fir = L0000 43
0,02680893275 X 40000= 1072,35
T308R = 67T 3§¥ 54y TRE 3
R -
1.HECR (E RS uy > BTEL—
FHR=(0,32):, A R= 01028}
AR
—H AR = (3,125)9 R=9_76562
5HR



11l

2 BARE A B N B AR > B4R
T R=(0.32)3r H AR
=0,032768 T H AR »
—YHAR= (3. LA R=
30 317578195]'[."}5}(

3.1 A BT 4 SIS S BAE iE A o

B BN B SR A B A
» & BT IR BUZE R B - BK
B » 7 LLBE 2EF o

7 S

1B AR EREEBH e

2B RARARELR

5. 40— & B R ] o

4,38~ EAB B BE e

5 AI—IEA BB EE o

6,47 — 7N A e AR Bl & B o

7 mS B 724 1 A IR S B B Sl Y o

B R3S A B ARE R o



12

9, JEALESSHAS K BB REE A o

148 TR E AR ERE o

1mes i B 20 5 RA RSB
B o

12ip8 5 NRS5 A B AR B
ﬂ Q

13407 A 120 L RAK BB
il o

4408 - AFH RG] 320 I AL B HA
BEAY -

1548 9 B 03574 A0 B BIAR s T o

16JEE6A5R 8 AR 1 A& A
24 &

TS 84T SESEE AR MRS

Y o
BIBAH ¢ DEORWORTIATR
PEy LTS
£ a6 B B

Py



13

1. BBEMEBES
15,k 30053 th T 73 2 84 °
30,520 e IESZ S
RIELBE—E > %Uiﬁm.s 300 >t

g,.llo() s “fuwpmﬁm 100 -0

100
B I > B0 22004 b iy
10
&
o > FILIR ? BBy =gt
100
E#H

ﬂ.ﬁiﬁ’ﬁ&ﬁﬁiﬁﬁni’%éﬂ s MRS

B e

i%ﬁﬁﬁ%ﬁ& @ﬁmﬁime
SEHEZH W B SR

Mk KW —ag s Z 8 R o

BREM—MEY =8 R -8



14
B B AT a2 Rk
AZ A8 o |
H -
1. R T B 0 B R R
5 {H B S EUN R, RTR D 2 0
2 B R T B 0 BRASRI/NER L
WAL 5 IR SRR B T B 0 7T
TR B KRB %
9% o :
B o ~
c RE KT T BIHBEESZ
% ?

25 Fp + 300 Ft=25+200=0,12 } =
121 % | |
EapZzt+_A_n—
FCE FTHARFMOON) » WA RN



W B =
LEBGERTAEE :
762200 == 100 = 800 =
'B4S -+ 500 == 9. 15350 =

LATHBY
6% % 0% 216 %
603% 11.2% 437% 8U2%
2 BT RE R
o ER T2 ¢ R EERIGAY ¢
BEMEAR2E 124 538
E@ L GER 0P S -

B EEE LR 22 5 2 EH XY
123 S BERRGBAVRE ?
HE H B SRS P8 B

RURE » RFEOHRE » ZR K4



16
~$y » Bp{E BT B R e

i
T 50 B R EEE » AR » Bhiks
1% o
Al VB W =T BB
2% B = @ B x @ B
Xlsm B o= Fo®m - om ®
1) H

13 ABHET355 « J01e 0334
VESEMET » BB HMAE P
1”4}3\%-359\“:0.4::40% ’
EEH 2 m+
2ABEABOAGTE 5£40% 1 5
ETHOA? .
350 X 40 HHES5 [ X bb— 1411
St
LB ME S B AET ~ REM

-



